STuDpY TIP FOR CHAPTER 4 TEST
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SECTION 4.1 REVIEW

Give the coordinates of the points labeled 4, B, C.
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Plot the point in a coordinate plane. Describe the location of the point.
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Graph the function with the given domain. Create a Table. Then identify the range of the function.

4) f{x)=-2x-1;domain:-2,-1,0, 1,2

RaNGE: —5,-3,-\,\,3
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Graph the function with the given domain. Create a Table. Then identify the range of the function.

5) fx)=-3; domain: -4, 0, 3 RANGE:
E—
1
-3 = X
=
_3.-
6) f(x) =%x+1; domain:4, 0, 4 RANGE: )/‘“ "_3; Y
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7) f{x)=—Yx +3; domain: -2, 0, 2 RANGE:
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SECTION 4.2 REVIEW

Determine if either point lies on the graph of the line.

1. 2x+y=8
a (8,-12)
b (-2, 12)

2. x-3y=12 (q/’) EL, -2
a O,DN:S. —9-3() =] 2 —(—¢) —3(-2)= L
b (-6,-2) Sorutjond 1232 6+6 =12
125 {2

3. y=Yux+4
a (9,10)
b (10,9)

' Put equations in slope-intercept form (also called function form)

4, -?Fn
+X +bx

‘______.—————'-———-__._-

G=tx 10

5. 8x+2y=10

6. 10y—5y=25
—=}gx —|0X
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—¥ == =S
(Y=2x>
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Graph the equation using a table.

7. y=-3x-1
T
-3
1
=3 1= 32
—.1 ==
—3
- J
8. y=lx+2

Ys(-3)+2 = “1Fz~

3(3)+2=1+2+3

9. H4x+2y=4 (remember to putin “y=mx+b” first)
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10. 23/+ 4y =—4 (remember to put in “y=mx+b” first)
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SECTION 4.3 REVIEW

Determine if either point lies on the graph of the line.

1. y=8
a. (8,-12)
b. (-2, 8)

Y s (9, -3) (-3, ~2)
X X

a. (9,-3) N.S.
b. (-3,-2)Socunin q % ,_3 -3 = -3

Graph the equation.

3. x=-6
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For each, give the equation of the line, the slope, and intercept.

5. Equation:

Slope:
(Circle) X-intercept or Y-intercept and give the ordered pair: (
N
Y
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6. Equation: y: 4
Slope: m= 2 erg

(Circle) X-intercept m@d give the ordered pair: _( o
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7. Equation:
Slope:
(Circle) X-intercept or Y-intercept and give the ordered pair: (
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SECTION 4.4 REVIEW

Find the x-intercept and the y-intercept of each equation.

1. 5x+10y=30 2. 8&x—-2y=16 3. —12x+ 2y=-36
X: :
Y O
S'x—;%)”é %-zyrﬂ.
/e |Ry=1k
< |t Tz

X:@0) Yo -8)

Draw the line that has the given intercepts. Label the points X and Y where the line crosses the axes.

4. x-intercept: —2
y-intercept: 6

A
i

5. x-intercept: 2
y-intercept: — 3
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Graph the equation with X and Y intercepts. Label the points X and Y where the line crosses the axes

6. 3x+9%=9
/"_)_v_'_ -
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7. 6x—6y=36
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SECTION 4.5 REVIEW
Without calculating, tell whether the slope of the line is positive, negative, zero, or undefined.
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Find the slope of the line.

WHAT EQUATION WILL YOU USE? m=

5. | 3 |
3 (5, 3)
e
—'I//// 3 S x
<
6 N Rubw+S
. = | [ZA
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(-3, 3 2,3 |




STUDY TIP FOR CHAPTER 4 TEST

Find the slope of the line (continued).

8. : T T
‘\ 3 ’E; S
\
(=1, 2| 2
NN RNEEE
_! Y T
= .__l i
4, — )=
=3
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(2, 2)
1
= 3 h'y
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| y(2, —3)

Find the slope of the line.

A ™
-

(%)

[ WHAT EQUATION WILL YOU USE? m=

10. (1, 2) and (6, 12)

11. (5, -2) and (5, 8)

12. (-8, -6) and (-2, -2)

T R

e

-

M= ng i

13. (3, -5) and (9, -2)

14. (-10, =5) and (2, —2)

—

542 -3
r\’\—— :T;_?_:' -\Z

15. (3, 10) and (8, 10)

10
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SECTION 4.7 REVIEW
Identify the slope and y-intercept of the line with the given equation.
1. y=5x-
”_ﬂ_-__—:r“'\ - R
<7
= —3

Y= "4 %+ 10
3, 4x+y=28
4. —&’.y =2x-20

——— —

— -~ -2

Y=—x+\0
S ——————ca

5. 6x-12y=-24

6. Sx+2y=10 -
- -SX :_E_XT_S- m= = m=35
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7. 12x+3y=9
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Identify the slope and y-intercept of the line with the given equation.
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Graph the equation using the slope and y-intercept
12, y=—%x—-1
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14,y =—x+2

gl
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15.y= 7x -4
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16.y=x+3
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SECTION 4.7 REVIEW (continued)

Determine which lines are parallel.
18. line a: (-4, -1) and (4, 5)

line b: (-8, -10) and (8, 2)

e N M= -lo-2 _ 2
g4 —q4-4 = -8 )

—&-5 ~ Tk
( Jines D

bécauge. ‘—‘H\e 5/0,065 are Fhe Sern @

19. line a: (-6, -2) and (3, 4)

line b: (2, 5) and (-4, -4)

Tell whether the graphs of the two equations are parallel lines.
20. y=8x-3, & +y=3

@—;é«—%x W)

hecause Fhe $lopes
m—-’% are Ql(qt/er\—f.

21.2y=10x+ 7, Sx-y=6

: + A\ \\
~% ~ &4 = ¥xtZ e
_”’J%?f:l =3 3 <. NS bt
’%‘. " T3 -3 K i
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SECTION 4.8 REVIEW

Evaluate the function when x =-10, 0, and 5.
1. f(x)=4x-5

2. g(x)=-10x+ 100

% ("1'3) = =10 (=10)+100 = 100 +100 _=

Q () ° )
8(5>- —IO(S) +1dg = -So T ¢ =@

3. p(x)="ex

4. Q(x)=ix -2
5
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Tell whether the pairing is a function. Explain your reasoning,

5) Input

Output

STUDY TIP FOR CHAPTER 4 TEST

IDENTIFY A FUNCTION

7)

< |4

8)

10)
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